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Note :– This paper is of Thirty Five (35) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV %& ;g iz'u&i= iSarhl (35) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×9½=19

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nine and Half (9½) marks each.

Learners are required to answer any two (02)

questions only.

uksV %& [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, lk<s+ ukS (9½) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. (a) What are the main postulates of VSEPR Theory ?

VSEPR ds eq[; fl¼kUrksa dks ifjHkkf"kr dhft,A

(b) Explain the structure of ClF3, XeO3 and PCl3 on

the basis of VSEPR theory.

VSEPR fl¼kar ds vk/kkj ij] ClF3, XeO3 vkSj PCl3

dh lajpuk dh O;k[;k dhft,A
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2. What is Molecular Orbital theory ? Draw the MO

diagrame of NO and O2 molecule and predict the bond

order, magnetic behavior also ?

vkf.od d{kh; fl¼kar D;k gS \ NO, O2 v.kq dk MO vkjs[k

cukb, vkSj ca/ku Øe] pqacdh; O;ogkj dks Hkh le>kb,A

3. Define the electron affinity ? What are the various factors

due to which the electron affinity of the main group

elements tends to decrease and increase in periods and

group ?

bysDVªkWu ca/kqrk dks ifjHkkf"kr dhft,A os dkSu ls dkjd gSa ftlls

bysDVªkWu ca/kqrk vkorZ vkSj lewg esa ?kVrh vkSj c<+rh gS \

4. What do you understand by polarizing power and

polarizability of ions. Describe the different factors

affecting it.

vk;uksa dh /kzqohdj.k 'kfDr ,oa /kqzohdj.k {kerk ls vki D;k

le>rs gSa \ bls izHkkfor djus okys fofHkUudkjdksa dk o.kZu

dhft,A
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5. Why is diborane classified as an electron deficient

molecule ? Give two method for the preparation of

diborane. Discuss the structure of diborane.

Mkbcksjsu dks bysDVªkWu dh deh okys v.kq ds :i esa D;ksa oxhZÏr

fd;k x;k gS \ Mkbcksjsu rS;kj djus dh nks fof/k;k¡ crkb,A

Mkbcksjsu dh lajpuk ij ppkZ dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×4=16

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

uksV %& [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, pkj (04) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. Explain the Aufbau principle and dual nature of matter.

vkQckÅ fl¼kUr vkSj inkFkZ dh nksgjh izÏfr ds fl¼kUr dh

O;k[;k dhft,A

2. Explain the Schottky and Frenkel defect in the crystalline

solids.

fØLVyh; Bkslksa esa 'kksV~dh vkSj Ýsudsy nks"k dh O;k[;k dhft,A
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3. How many periodic laws in periodic table ? Explain in

brief.

vkorZ lkj.kh esa fdrus vkorZ fu;e gSa \ la{ksi esa le>kb,A

4. How we calculate the lattice energy with the help of as

Born-Haber cycle ?

ge cksuZpØ gScj dh lgk;rk ls tkyd ÅtkZ dh x.kuk dSls

djrs gSa \

5. Write short notes on the following :

(i) Van der Waal’s forces

(ii) Thionic acids

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(i) oSu Msj okYl cy

(ii) fFk;ksfud ,flM

6. Define the anomalous behaviour of lithium.

fyfFk;e ds vlkekU; O;ogkj dks ifjHkkf"kr dhft,A

7. How does the electropositive character of the alkali

metals vary in the group and why ?

lewg esa {kkj /kkrqvksa dk fo|qr /kukRed xq.k dSls fHkék gksrk gS vkSj

D;ksa \
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8. Explain giving appropriate reasons :

(i) The ionic solids are poor or bad conductors of

electricity.

(ii) SiO2 exists as a giant molecule,

(iii) H2O is liquid and H2S is gas

mfpr dkj.k crkrs gq, Li"V dhft, %

(i) vk;fud Bksl fo|qr ds [kjkc ;k [kjkc pkyd gksrs gSa

(ii) SiO2 ,d fo'kky v.kq ds :i esa ekStwn gS

(iii) H2O rjy gs vkSj H2S xSls gS

**************


